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@\ Homework answer-(27tr)
Thanku so much sir for this (Useful Session)
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27 liter is the rgt answer
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27 litre
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SSC 2022+ CGL+CHSL+CPO / M at 06:30 PM

A Jar contains a mixture of two liquids Aand B in
the ratio 3: 1. When 24 litres of the mixture is
taken out and 9 litres of liquid B is poured into
the jar, the ratio becomes 3 :4. How many litres
of liquid A was contained in the jar?

Teh IR H 3: 1 & 39T H &l el A 3R B &l
fRsror @rar &1 ST R80T T 24 ol [AraT ST
& 3 IR # 9 ofieX el B STl STl &, ol 37e]9Td
3: 4 8 ST & | STR 3 RhcieT oliex ael A afater

ars a)30 ltr

W b)27 Itr
01:00 A

d)24 Itr




SSC 2022+ CGL+CHSL+CPO / M at 06:30 PM

A and B are two alloy of tin and copper prepared
by mixing metals in proportions 13:11 and 5:7
respectively. If equal quantities of two allays
melted to form a 3rd alloy C, the proportion of tin
and copper in C will be,

feaT 31 IR o AR S 31T 2 3T A 3T
B & fora® et 37X AT T 74Tl HAT: 13:11
Uq 5:7 ¥ T ST et T GATT HET REea
Teh QORI 37T C 9917 1T g, 3798 C H feot
37X IR T U AT T

») a)23:25

c)18:17

d)22:27




SSC 2022+ CGL+CHSL+CPO / M at 06:30 PM

A and B are two alloys of gold and copper prepared
by mixing metals intheratio 7: 2and 7 : 11
respectively. If equal quantities of the alloys are
melted to form a third alloy C, the ratio of gold and
copper in C will be

AR B Al JAT A & & fASnd & S ercg3it t
ShARM: 7:2 AT 7 : 11 o 37791 H TATHT T F=10
T | uﬁwehwﬁr&mld C ST & ToIT 37
ﬁm&ﬁ@rwwmm arc & gt
oTAT TS T 3T 1T

(@)5:7
01.00 -
” () 7:5

(d)9:5



SSC 2022+ CGL+CHSL+CPO / M at 06:30 PM

Three glasses of equal volume contain acid mlxed
with water. The ratios of acid and water are 2:3, 3:4
and 4 : 5 respectively. Contents of these glasses
are poured in a large vessel. The ratio of acid and
water in the large vessel is

AT 3T arel diel RBremar & grer & gy @Afsa
31FcT | 37F ol 3R Uil ol 3eTUTc hARM: 22 3, 3 : 4
3iR4:5 %I sfrri?l?»lmT%tl‘q’r?fra?r Uh &3 dclel H STell

ST & | 9 Sciel H 37FeT 3R ATl T 3He]dTe 1

gIam?

(a) 411:540
Hlmm » (b) 401:544
(c) 417:564

(d) 407:560




SSC 2022+ CGL+CHSL+CPO / M at 06:30 PM

Two vessel contain milk water in the ratio 5 9 |
and 7:11. If both vessel are mixed In ratio 4:3.
Find the ratio of milk and water in new mixture?

&l Sciell 3 g d Tl &l 31eT91d 5:9 3R 7:11 B
3 ST ST 3 FRAOT &7 41 3 o 3fe]ured # fAeT
%QJTEFFUHTHU%}}TUTJ#E@WWW 3771

AT T ?

a) 141:131
b) 107:89

m » c) 109:185
d)114:175




SSC 2022+ CGL+CHSL+CPO / M at 06:30 PM

In two types of brass, the ratio of Copper to zinc
are 8 : 3 and 15 : 7 respectively. If the two types
of brass be melted and mixed in the ratio 5: 2 a
new type of brass is obtained. The ratio of copper
to zinc in this new type of brass is

Al o UlcTel # dle 31T ST ol 37dTeT SheAl: 8 @ 3
M 151 7 31 AR QA g F Neaet Y e T 5
2 & 37791 H fATAT R A1 ST & Toh AT bR
T dicrel & i 31N e & 37eTUT S13T?

01:00 g
» (b)2:3

(c)3:4

(d)5:2




SSC 2022+ CGL+CHSL+CPO / M at 06:30 PM

Two vessels contain milk and water Iin the ratlo
3:2and 7 : 3. Find the ratio in which the
contents of the two vessels have to be mixed to
get a new mixture in which the ratio of milk and
wateris 2 : 1.

Gleil &1 Sctell 3 G T Uil &hT 3171 3 : 2 7T
7:3%l FETHR 3H 3FedIc aﬁrmﬁﬁm g
3TTHN Sl & AT Y FreTas e 3T TTey
e 31o1L||<-| 2: 1 T 3T TAHOT IR fhar o1 I |

01:00 02,
» (b)1:

(c) 4

(d)1:

NEFE NP



SSC 2022+ CGL+CHSL+CPO / M at 06:30 PM

A and B are solutions of acid and water. The
ratios of water and acid in A and B are 4:5 and
1:2, respectively. If x liters of A is mixed with y
liters of B, then the ratio of water and acid in the
mixture becomes 8: 13. What is x:y?

A3 B, TR IR Ui & AT &1 AR B H
qTeAT 3R TS ol 3eTaTd hAel: 4:5 3R 1:2 B
IR A F x AT F B F y e F G fHemar
ST &, TAS0T & grelt 3R Tfls &1 3eqard y
8:13 &I ST & | Xy SITd SISV

(a) 5.6

01:00 (b) 2:
»” (c) 34

(d) 2:3




SSC 2022+ CGL+CHSL+CPO / M at 06:30 PM

Two vessel contain mixture of milk and water. In 1st mixture milk is 31.25 % less than
water and in 2nd mixture the difference between quantity of milk and water is 11.11% of
total mixture. If 10.5ltr of 1st mixture and 17.5Itr of 2nd mixture is mixed then find the
ratio of milk and water in the new mixture?

qgol fAS0T H g&r 31 AT ITeil § 31.25% A & | gAY FAMOT H ¥ T IT=it &y AT
3 el AT AT 11.11% & | TTE Tgel AT 1 10.5 off iR g@X fA07 1 17.5 off [Aeman
ST ar oo fHSOT F 4 TAUT IT=AT T ITeTTT FIT T 2

01:00 s
0)2:1
”c)ll

d)3:1



SSC 2022+ CGL+CHSL+CPO / M at 06:30 PM

Three containers have their volumes in the ratio 3: 4:5. They are full of mixtures of milk
and water. The mixtures contain milk and water in the ratio of (4:1), (3 : 1) and (5:2)
respectively. The contents of all these three containers are poured into a fourth
container. The ratio of milk and water in the fourth container is

ool STl o AT 3T 3TeTUTd 3:4:5 8| Il & &1 3{R UTeit 1 TA0T $RT g3 g | et
St 3 gy 3R el ! ST FTeT: 4:1,3:1 3R 5:2 | A 347 el ot a6 FAvsor
T 1Y 9 H 35 Wwﬁﬁﬁmﬁwﬁmﬁw 3TeTUTe AT hIfeTT?

01:00 S
0)151:48
») €)157:53

d)5:2




SSC 2022+ CGL+CHSL+CPO / M at 06:30 PM

A vessel is full of milk. 23L of milk is taken out &
replaced by water this process is repeated two
more times. Find the initial amount of milk in
the vessel. If at the end the ratio of milk and
water becomes 1331:397.

Ueh Jde] ag:@rmgm &1 23 off g fAehrerehy
g1t f&er fe=am aram | I8y ufenar & R 3R e
IRT | TR H G T ATHT AT ShiiolC TG 3TE
H ¥ 3R 9Tl &7 3Tl 1331:397 & 2

a)230L

01:00 py253L
c)460L

» d)276L




SSC 2022+ CGL+CHSL+CPO / M at 06:30 PM

A vessel is full of 90 Itr milk, 18 Itr milk is taken
out and replaced by water and again this
process Is repeated 2 times, the amount of milk
left after the 3rd replacement is?

Teh dciel 90 oleX g O T BT &, 18 olleT g
fehTelT SITAT & 31 38 Ul 8 S [ear Srar g
3R TR & 39 UTshaT i 2 IR SIgAT STdT g,

A ITAEATTS & §Te g &l ATAT fehdail =it 87

a)11.52Itr
01:00 » b)46.08lr
C)23.04ltr
d)69.12Itr




